# **Ballajura Community College**



YEAR NINE 2026

2026

26 954 09 B

# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 12th December 2025 Using "3VGK" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

### HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$10.00, if placed on or before the return date of Friday 12th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Read	Unit Price \$	Total Amount \$		
Office Ode	YEAR NINE	110.	rtoqu	rtoqu	Τ 1100 ψ	Amount		
	ARTS: DIGITAL DESIGN, PHOTOGRAPHY & GRAPHICS							
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	1		1	14.50	14.50		
	DESIGN & TECHNOLOGY							
	<b>DESIGN &amp; TECHNOLOGY</b> All Personal Protective Equipment (PPE) listed must be purchased and worn in all practical lessons.  Sturdy enclosed shoes are required and long hair must be tied back when working in the workshops.							
	DESIGN: TECHNICAL GRAPHICS	Orking iir	ine worksho	ρ3.				
	USB Required (in General Stationery list)							
	INTRODUCING BUILDING AND CONSTRUCTION							
P56428	Safety Glasses Clear Wrap Around	2		1	6.45	6.45		
	METAL TECHNOLOGY							
P56428	Safety Glasses Clear Wrap Around	3		1	6.45	6.45		
	WOOD TECHNOLOGY							
P56428	Safety Glasses Clear Wrap Around	4		1	6.45	6.45		
	DIGITAL TECHNOLOGIES							
	USB Required (in General Stationery list)							
	DRAMA							
P50272	Document Wallet A4 Polywally Blue Translucent	5		1	3.35	3.35		
P50271	Pencil (HB) Goldfaber	6	<u> </u>	1	0.70	0.70		
	ENGLISH							
P50452	Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	7		2	1.75	3.50		
P50258	Document Wallet A4 Polywally Smoke Translucent	8		2	3.35	6.70		
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	9		1	4.25	4.25		
	Items will be collected by the teacher on the first day of School.							
	FRENCH							
P50452	Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	10		1	1.75	1.75		
P50272	Document Wallet A4 Polywally Blue Translucent	11		1	3.35	3.35		
	HEALTH EDUCATION							
P55497	Document Wallet FC Slimpick Red	12		1	1.10	1.10		
	HOSPITALITY & LIVING							
	Sturdy enclosed shoes are required and long hair must be tied back when w	orking in	the kitchen a	and textile ro	oms.			
	CARING FOR CHILDREN							
	No items required.							
	FASHION DESIGN							
	No items required.							
	FOOD AND CATERING							
	Students must provide their own lunch box sized food containers.  FOOD TECHNOLOGY							
	Students must provide their own lunch box sized food containers.							
	HIIMANITIES AND SOCIAL SCIENCES (HASS)							
	HUMANITIES AND SOCIAL SCIENCES (HASS)							
P50452	Coloured pencils required (in General Stationery list)	40		0	4 75	2.50		
P50452 P55497	Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	13		2	1.75	3.50		
1 33431	Document Wallet FC Slimpick Red	14		1	1.10	1.10		

# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS					
D00040	All Students				24.25	a. a =
P36046	Excel Essential Skills Maths Revision & Exam 9 [AS Kalra]	15		1	21.95	21.95
P50452	Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	16		2	1.75	3.50
P52000	Calculator Casio Scientific FX-82AU Plus II 2E (Or retain from previous year)	17		1	41.95	41.95
P55487	Document Wallet FC Polydoc Red	18		2	2.50	5.00
P55578	Graph Book A4 48 Page 10mm Grid Squares #130 Spirax	19		2	1.25	2.50
P56353	Protractor 10 cm 180 4" Half Circle	20		1	0.45	0.45
P56414	Ruler 300mm Plastic Clear Marbig	21	<u> </u>	1	0.75	0.75
	MEDIA ARTS					
P55442	Display Book A4 20 Pocket Black Refillable	22		1	2.30	2.30
P56130	Pen Felt Tip Fineliner Black	23		1	2.85	2.85
P50271	Pencil (HB) Goldfaber	24		1	0.70	0.70
			_			
P50272	MUSIC  Document Wallet A4 Polywally Blue Translucent	25		1	3.35	3.35
P50271	Pencil (HB) Goldfaber	26		2	0.70	1.40
	r onon (n.b.) Colaidach	20		_	0.70	1.40
	OUTDOOR RECREATION					
P50272	Document Wallet A4 Polywally Blue Translucent	27		1	3.35	3.35
	SCIENCE					
P50452	Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	28		2	1.75	3.50
P50259	Document Wallet A4 Polywally Clear Translucent	29		2	3.35	6.70
	SPECIALISED BASKETBALL					
P51465	Document Wallet A4 Polywally Red Translucent	30		1	3.35	3.35
	VISUAL ARTS: 2D ART AND 3D ART					
P50848	Display Book A4 20 Pocket With Frame Black Refillable Marbig	31		1	6.95	6.95
P56081	Marker Artline #200 Black 0.4mm	32	$\overline{\Box}$	1	3.95	3.95
P52014	Pencil (6B) Goldfaber	33		1	0.70	0.70
P50610	Pencils-Watercolour 24's Faber	34		1	18.50	18.50
	GENERAL STATIONERY					
P54568	2026 Diary A5 Student Week To View Spiro Cumberland	35		1	4.15	4.15
P58510	Eraser Plastic Pencil Large With Sleeve	36		2	0.40	0.80
P51353	Glue Stick 40gm Artline Purple	37		1	2.95	2.95
P51157	Highlighters Pkt 4 Micador ECO	38		1	3.60	3.60
P50113	Markers Faber Project Wallet 12 Assorted	39		1	3.65	3.65
P56095	Pen Ballpoint Cap Type Blue Medium	40		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	41		2	0.35	0.70
P56094	Pen Ballpoint Cap Type Black Medium	42		2	0.35	0.70
P50006 P52001	Pencil (HB) Columbia Crestmark	43		4	0.35	1.40
P56213	Pencil (2B) Goldfaber	44		4	0.70	2.80
P56252	Pencil Case 340x170mm Name Large Pencils-Coloured 12's Colourush	45 46		1 1	3.75 4.85	3.75 4.85
P56328	Pocket Plastic A4 11 Hole Pkt 10	40 47		1	1.40	4.65 1.40
P50090	Ruler 300mm Wooden Celco	48		1	1.10	1.40
P50161	Scissors 170mm Maped Plastic Handle	49		1	2.45	2.45
P56242	Sharpener Pencil Barrel Double Hole (EL)	50		1	2.10	2.10
P53066	Tissues 2 Ply White Box 160/200 - (SUPPLIED TO SCHOOL)	51		2	3.90	7.80
	(If ordered online, will be delivered in bulk to the school)		_			

Page 3

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	l∡l Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P52086	USB Pocket Flash Drive 32GB - NO RETURNS (For use across all subjects)	52		1	14.05	14.05
	Ear or Headphones - Required for Naplan		Choose One			
P50345	Earphones Ear Bud Stereo Ultra Lightweight With Adapter -OR-	53		1	14.75	14.75
P55687	Headset Multimedia With Volume Control	54		1	18.95	18.95

Number of Boxes ticked:	
Postage (Home delivery only)	\$10.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 04/11/25)	\$